£ = =l B A vier Briiche, Dezimalstellen, Reihenfolge der

Operationen
Name: Datum: Ergebnis:
1 1 1
59— =+4x — = 3.8+ -—2x51=
9 5 6 9 4 9
1 1
5,1+4,5—4><6= §+5,5><5—25><4,1+5=
2 3 2
4 6—4x2,T+2—-2X == ——20x3,9+5-2x%x ==
9 9 3 2 9 5
1 1
4,6+4,4><3—15><6+5= 5,5+2,9—4><§=

1
3,9- - +3x3,4=
9 2 2
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£ = =l B A vier Briiche, Dezimalstellen, Reihenfolge der
Operationen
Name: Datum: Ergebnis:
1 1 191 11 1 123 3
59— =-+4x - = — =6— 3,8+-—2%x51=(C-—)=(-6—
’ 5 6 3 30 ’ 4 ’ ( 20 )=( 20)
51+45—4><1—134—814 1-|-5 S5x5-25%x4,1+ _15—71
T 6 15 15 2 7 T 2 2

Y 2

46—4x2T+2—2x = =(-22)= (2=

1 173 3

4644 4x3—15x 2 +5=-" — 17>

614,43 15xe+5=95 =175
1 68 3
39—~ +3x3.4= 2 132
7Ty TN RAT g 5

3 2 149 9
) L5 x D= (-2 c142
5 20x3.955-2x s =037 = Clig)

1 29 4
S=53-5% 2 =(1)=(5)
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